Directions (1-2) : Study the
Gﬂlﬂmn(mfu'luhnn refully and

i A1 b tho Noth o
poiat C. Point B is 10m o the West
ofpoint A Pint D s 261t the
South of
to the Enst
6 to the South of point F.

1. How faris point F from point

A?

(W2 metres ()8 motres
(3)2.5 metres (4)5 metres
(6)10 metres

2. Which of the following repre-
senta the direction of point B.

with respect to point C?

(1) North-East
@ South-West.
(@ North
@) South-East
(5)North-West
3. All the letters of the i

JUMBLED are arran
per the Englioh aiphaetical
1 En-

‘word

the fllowing will b the sec

‘ond last letter of the word?

WL @M

@u

(4)Other than those given as
ions

opt
GF
52300 St et o

series?
()None
@ Two
(5)More than three
Directions (6-10) : Study the
following information carefully and
ions given below :
A building has sight Ncors
numbered one to eight, in such a
ol e et is num.

(2)0ne

t
One out of i vi,
LU vwx-mhm,m...a«
oo o
o Bmari & Oy
e perscn Hives bebwsen L and X
between V

floor. Only one porson I lives be-

n W and K. Only two persons
between Y .nd s T
one of the

6. Who lives on the topmost
floor mber 8)7

Ge.
x
@M
GK

7. Who live

@w

@W.X

exacly between th |
floors on which Y and J live?

8. Who lives on floor number 57

x @K
@M @3
©OW

5. Who amingst the Glowiog

)No one as Y lives on the
topmost floor.

®3
. Which of the following state-
ments is true with respect to
the given arrangement?
)Y lives on floor number 7
(@)W lives on  floor immedi-
ately above Y's foor.
(3 Nane of the given options
true

()M lives on the lowermost
floor

(8)V lives on floor number 2.
(11-16) : In each

statements to

commonly known facts and then
decide which of the given Conclu-
sions logically fllows from the giv
en statements disregarding com-
monly know
Give answer (1) if neither
Conelusion I nor Conclusion II fol-

Give answer (2) f ither Con
clusion 1 or Conclusion I1 follows
Give answer (3) if only Con-
elusion I follows
Give answer (4) if only Con-
clusion 11 follows



amswer (5) if bath the
omshogion 1 and Conelusion

usion 11 fol-

11, At least some markers are

15 Btatamentss
numbers are integers.
VAI.\ integers are equations

A1l numbers are equa-

fons.
11 No equation is a number.
Statemen

t

No box is a carton.

Some cartons are folders.
No folder is a rack.

All weeks are months.
‘Some months are years.

IL At least some days are
‘months.

Directions (16-20) : Study the
lloningikrmation carefully and.
answer the questions given below =
Bight ¢ e e QRSTU

V, W an ing around
omaee takie s o way thak
them sit at four corers of

who
e of the sides o fac ot

e eppostt o the cetze. w

s o oV Vi | here ::: ant e
e prsos.In o

:)l,\;‘;"“fm !I“o“-hede EFRG d H are seated (but not

o i ind to right o S.  does
i comers. 3 i8

5
HH
§
k!

Seated (but not necessarily in the

e irmmediate neighbours of
Mh St edmu = uvso same order) and all of them are

U e ae. Qs ok an e
diate neighbour of fncing i, Torefr n the -
\ofw? | en seating arrangement. eac
o f;',q OF WT | member seated in a row faces an-
((s)m 29 “Rher member of the other row.

C sits fourth to the eft of LR

ay faces one of the immediate neigh-

7, Pourofthe llowing S5 % | bours of . 8 i o the imoet
& cortain way based

“nshe given arrangement

and so form a group. Which

i the one that does not be-

2nd to the right of W. One who fac
es U sits to the immediate right of

| long to that group! E. V is not en immediate neigh-

| ws @R F sits to the immediate
®Q @x right of D.

| v 1. Whatis hepriion of D with

18 Who sit exactly between W espect to

| and S when counted from th o i 0 the rght
ight of W2 (2) Third to the left

| @onx @RV (3) Fourth to the right

| @eu  wav (@ Second to the right
@y v (5) Second to the left

22, Who amongst the following is

| ments is focing H
(U sits exactly between T MR @w
| amax @z @u
@U sits to immediate left of
b v
@u i Pour of the following five are

alike in a certain way bas:
on the given arrangement

| @U is an immediate neigh-
bour of S.

£ 'ht:khnpnnuun of Quith
iy wie]

f

it

1 b ) C sits to the immediate
Directions (21-26) : Study

(2) None of the given state-

dle of each of the four sides. The

‘ments is true

ones who sit at the four corners.

(3 C faces T.

:..mm the questions given




(6) C sits to the immediate
right of E.

ight
26. Who amongst the following is
facing G?

mv @T
@R @u
© W

Directions (26-28) : Study
the following information carefully
and answer the questions given
below

K i the sister of H. N is e

tor of J. P in married to P. F iy the
daughter of 8.
26. How is N related to 87
1) Cannot be determined
@Son

(3) Nephew
I

3

@ Cannot be determined
(6) Daughter-in-law
20. The question

'CHART
HF’, then how
bo coded in the same code.
guage?

(1) WHKCG

(2) Cannot be determined
(4)WIKDG

(@XHLCH
(5)XJLDF

owing quest
Honahip betwean aiffersnt -u-
ments

bl atement(s) nd et
the appropriate

rer (3) if only Con-

s tru
¢ v ) i nly Con-

o T w0
Give amewer 8 i£ ot the
Tand Conclusion T are

@1-89)
sm.m.nu '

2A<M<IsN;
D(Az?
31. Conclusions :
L1>p
ILA<N
2. Conclusions ;
>P

Watements ¢
B<S<W<K=Y>Lx»p
Y<z LiX>B;

33. Conclusions ;
LX>w

35. Statements.
J<I<R=M;D=1
Conclusions :

M>D

<M
Directions (36-40) : Study the
(ollwing mﬁymunam carefully and
sestions given below
ln a crtain code language,
8 §00d to people’ is writ
—— Tk
rtists liked to sing’ is writ
ten as ‘so kr ap te’
Sood pecpl. s Mt by v

ten

ts are .m... wel' is writ-
ten as mk u
A o e e
only)
36. What is the code. for o inthe
given code langu
(Wte
(2) Other than those given as
options
@kr
®)s0
37. What may be the possible
code for ‘street artists’ in he

@bh

given code

Weonk  @ziap
@kreo " (@krms
(©)nk ms

38. What is the code

e for < acting
in the given cade

30, 1 'sing ety wlt o coded
as g0

the giver
gty hat is the
‘VM tty?
@

3)
(5) Cannot be dmm.med

40 In the given code language,
hat does the code o' stan
1l)lrmu
@a
@either ‘oo or ‘people’
(5) either ‘acting’ or 'ty

@liked



Dircctions (41 - 45): In the
following questions, each sentence
Hn & Dlak, mblcating thet
something has been omitted.
Ol e ol ks Ml

41 Timy was o tiny squirrel
who was locked in & hollow

©) robbery
‘While Jojo was busy sating an
ice cream, Karan = ._a
water balloon at him.
 fire

@) casting

@ stopped.

) e

v

4. The upllal of Vijayanagar
Ramas.

@ worship
@ ruled
(3) throne

44, A young man decided to take
the Princess as his wife but

___ to give up his habit of

travelling across the globe.

(1) never

@) neither

(@) refused

(@) forced

(5) thinking

Delnaz was an evil mather

who wanted to get

of her stop daughter.

@ freed

@ relieve

@ rid

@ lost

) clear

’

‘mark ‘No error’ as your answer.
(lgnore the errors of punctuation,

ifany)
46, Tn order to better (1)/ access
to financial services, (2)/ RBI

47,1 you have taken a home
loan (1) for the renovation of
(@) your residence you can
claim (3) an income tax re-

| bate under this Act.(4) No
| error (5)

48 As the young girl neared the
| village (1) she began to run
because (2)/ she wanted to
| reach home (3 as sooner she
could to surprise her par-

| ents.(4¥ No error ()

48, Every state has been asked

| to nominate (1) a fixed num-
Ber of city as (2) ‘smart cit-

| ses’, keeping in mind (Y cer-

| Bin guluninge ana s
ria. (4 No error )

54 Unles the govermment (11
encourages in

| cerint, magy facis-
ik 5 ol
will closed. ®)
Directions m ~58): In the
prwing questions, four words are
ives in bold. One of these words.

51, The jackal wondered out of
the jungle he lived in and
d 2 deserted battle-

1d.
() wondered (2) reached
® d
) battlefield
(®) Al correct

52 Shaggy, the rude giant
owns & beautiful garden but
never allows anyone to play
in it

) rude (@) giant
(3) boautiful (4 allows
(5) All correct

53. Rohini has to five in a tower
8 . o i
over the enchan who
hoe |mprlwned g

m co or
(2) enchantress
(3) imprisoned
@) climb

(s» AL eurrect

g ind

decided to take him on
ip to the market.

7m0 e
(®) decided ) trp.
(5) All correct

55, Mandavi was a white flee
who lived in the folds of an
exquisite white silk sheet

at o b

aking
(1) white ) flee

(@) exquisite  (4) covered
(5) Al cor

Directions (56-60) : Rear-
range the given six sentences/
), (C), (D),

ngly spe
in the context of

sentence. Find out the word

S.if any. That werd is your an-
ér. f al the words given in bold
carrectly spelt or appropriate
the context of the sentence,

o
e
the
‘that 3 inappropriate or wrongly
=
e
are
in

correct’ a8 your an-
e

(E) and (F) in a proper sequence
50 a5 to form @ meaningful pars-
graph and then answer the given
questions.

(A) As s0on as Naseer began
shouting at her, his wite again
opened the door to run out, just
then he promptly advised, “This
time, o to the bakor's house as
e makes delicious cakes.”




{0 s shiried at ber ll sho

(C) One day Naseer quar-
relled with his wife.
(D) Naseer followed her there.
(E) Sometime later, when
they returned to their house, they
began quarrelling again.
to plac
served the couple tea and sweet-
eats. .

58. Which of the following should

be the LAST (SIXTH) sen-
tence gement 7
WE @D

@A @B

®

7. Which of the llowing should
bo the SECOND

ter rearrangement ?

WA @B

@F @D

®

8. Which of the following should
be the

rearrangement ?

WE @
@A @F
®c
59, Which of the following should
be the FOX tonce af-
ter rearrangement ?
ma @
@B @r
®E
80. Which of the following should
tence after
rearrangement
@A @B
@c @E
®)

Directions (61-70) : Read the
following passage carefully and an-

r He Gut troes in
the woods for a living. One day he

a3 cutting wood on the bank of a

s Suddit, b ato el
hand and full o th v

e o s

is was not his axe.
Finalty, Mercury brought out an
. ter, cestatic

secing his axe, grabbed it. Mor-
cury was highly pleased with the
woodcutter. He rewarded the

61, Which of the .uw»mg can be
said about Mercury

(&) Ho had made plans 4 ‘punish
the woodcutter.

(B) Ho felt sorry for the woodeut-
ter.

() He lived around the bank of
the river.

@ Only A and B
® Al W, Bt

63. Choose the word which is
most opposite in meaning to
the word given in bold.as used

sage.

Distraught

(1) elated

(®) tensed

(5) capable

Choose the word! which is

mmost imilar in méaiing ts

given n bod 4y osed
in'the paseage

Narrated

@ parroted

@) lonsencd
@ ghjected

85. Which of the following is true
according to the story 7
0 Morcury foll ey, to the
oodeutter’s elaborate
Ve,
(2) The gold axe was useless
when it came {o chopping

® Moreury and' the
cutter were in faét very
riends

+ obsorved
by mer-

cury. g
® All the given statements
6. Chasso th the word which is
in the

(1) penalised

62, Which of the following canriot »

st sy il
A0 Thsirn e posessnd ey | ) LT

a family heiroam. b bo‘
® He did not succursb to temp- | 7, Ghoove the word which 1o
©Hew was wel aware that he st nimilar Iuemioduiog ut

in th

Oy n ° pusage

@ only B 5

@ Only A @) ignored

@ AllA), (B and (©) @ gar

® Only C @ declined

iaks



6 wmh N following
of the woodeutter's

) Ho was cunning.
(2) He was gullible.
(3) He was careless
(#) He was foolish.

no plan and no idea about the
these lands. Thus they did
not earn (76) and s
they earned. One day their little
ship was (77 in a storm and they
were left on an island. A few hours
(78) they saw what they thought
was & huge ship in the distance. *
@ve ‘had such a ship!” they said
to one another as they waited for
the ship to draw near. Finally when

(4) The Decp Lal
(5) The lmuhr River Bank
LY Whv M ‘the woodcutter start

e | —
come around and
help him if they saw him

erying.

(2) He had hurt himself while
trying to cut wood.

(8) He had the desire to meet
Mercury for a very long
time and could not stand
to wait any longer.

() He had not gathered
enough wood for the day.

(5) Other than those given as

options
Directions (71-80) : In the

Three young merchants had

of travelling overseas.
and prospering. One day, one of
them ted, “Let's go (1) &
distant land and try our uck too

ing their time waiting for the iy
and so also chasing after wealth

@ away
@ off

(®) pass
73. (1) earning  (2) getting
@grow (@ turn

(5) achieving
74 ) afer  (2) together
@ forever () end

®) luckily
75. (1) but. (2) though
(@) fortunately
(4) when
) since
6. (1) much  (2) any
@) lot (4) many
® great
7. (1) sank (2) anchor
@ ssiled () destroy

(&) caught
B (Wpest (g0
@ went @) time

The other two agreed and they

& small ship stopping at
cities along the way, (75) they

®) later
79, (1) Perhaps (2) Only
(@ Wish
@ typing

81

'QUANTITATIVE APTITUDE

There are four consecutive

positive odd numbers and

Tour sonaecutive. positi
bers.

highest odd number is 33.
What is the sum of all the

four consecutive odd and even
numbers ?

mes@ 108

@8sW 8

® 9%

is Xis increased
by 25% end 3is added toit,. Y
is doubled and 3 is added to it
The respective ratio of the
resultant X and Y becomes 2

5. What is the original value
of Y2

m2u@ 12

@n@ 10
(8) None of these

8. In & vessel, containing 60
ure of mil

litres of mixture
e eatac i oy 0B o

percentage of water in the
‘mixture became 18%. What

wse 27
@326 36
® 2

The compound interest (com-
pounded annually) on Rs.
9300 for 2 years at the rate of

rate of interest boen (R-101%.

of money for the same fime
period of 2 years ?

(1) Rs. 1845 (2) Rs. 2046
(3) Ra. 1974 (@) Rs. 2027
(%) Rs. 1963



ards -
lancous expenditure. From

rem: mount, A in-
yests 40% in shopping and
now is loft with Rs. 22,560,
What is B's monthly salary 7

will come in place of the question
mark () in the following

questions?

s - bt 4
M

126 2 15
@6 @ 4
0k

7. T43x6-138x6

-1
W e
@1 @ us
® 158
88, (126+6-12)x18= 72+ 7
sy 8
wie
2, 4
wieo 3
®3
55,208 o 50 x 120% o 7 = 480

H

lo lo 3l

OL 4% 18005 x80=2+59

mws @197
@21 @21
® 188

92, (V405 -J80) x 35 =?
W sE @80
EB@ 156

® 45
98, 86% of (336 + 10.5-360 + 225)
=7

1 3
we @ sg
4 2
@75 W3
)
® 855
B3
o JorForlgorran
W @
®ns  @es
® 149

98, 27% x 12 + (48 + (057) = 3"
w7 @ 9
@6 @ 8
®3

98. [289-264+16x2-87 ="

m.@ 15

@@ 14

® 20

973364 14x05+0.76 =7
W@ 06

3014 @14

® 16

Lio2,3
-'66 ’0'56 =7

-3 1
g @eg
@186 2

1
CEH

99. (095 x(009)'* = 31 10"
wmes  @-15
55

Im-35x8§t35x5,5nlvaax 5

Wai@ s
G ee@ 1205
® 121

(101-108): What
in place of the question
mm ™ in the following number

m,z 5 10 3 46 7

@28
e @ 82
® 104

102.11 24 50 102 206 7
ez @424
@43 @ a4
[CE]

103.15 18 13 20 9 7
@ @11
@2 @28
®7

104.7 16 54 228 7 6990
W2 @6
@ 1080 @) 1020
® 180

105,13 12 22 63 7 235
mus @ %
@ @22
(5) 264

106. Train A can completely cross
train B ( they

meet), travelling in opposite
direction (towards each other),
the

length of the train A s 71metro
‘more than that oftrain B, what
is the m.m. of train A 7 (in
met;

@ e @ 263
@251 @9
) 276




same sum of money is in-

Vested for § years at 12% per

(6) Rs. 3120

108 A sergrond ol on £

100 - 119): Study
the Inl!wml nhl- carefully and

answer the given questions.
“This data i regarding
number of visitors to five
B, C, D and E

of visitors to all the given

eums together was 25%
more then that on Sunday.
‘What was the total number of
visitors to all the given

together
Monday ?
(1) 4260 (2) 4652
@ AHS ) 4146
) 43
110, ‘H’u lMl|
o Museum D nl\ 'rhnnd.y
. Friday togather s what

of visitors to Mt
Friday and Saturday to-

gether ?
1
w03 @4
1 )
@By @ Bg
® 35
111, What isthe average number
of visitors to Museum E on

Ua dere. Py, Saturdey
and Sunday ?

s @0
@462 (@468
® 428

112 The ‘umber of visitors to ot

by approxi
mately what percent e
to Friday ?

wso
@38

@36
@50
® 45
113 What is the respective ratio
the total number of

jitors to Museum A on
and

®
110 Breent ags of A 1 e o
age four years ago. The
Tooivs s bomsn the
i-—m-n- of Aand Cis 6 :

5.1 B is 8 years oldor than
G, what is B's present age ?
years)
20
2

&%

@2
@s2

average score of the 25
boys in a class is 34 and the
average seore of the irls i
thesamo clss s 42 If the
e score of the wholo
laaa (boye and gorls st hor!
is 37, how many girls aro

there'in the class

llSTM!pccd of a bont in &6l wa

kmph 304

stream), what is the distance
between points A and B (in
km)

6L (2565
@2 @644
) 6

u7. A ani 5 peatod  busins

annual profit and B's

annual profitis Rs. 2160, what
C's share in the annual

profit
(@) Rs. 1180 (2) R 1260
(@) R, 1680 (4) Ks. 1350
(6) R, 1320

118,16 men can i« o 1
46 days. Only 36 e it
orktos e e L 512
women replaged them
these 12 women could

@ 685
@69

© 66
119, The sum of diameter and cir
e of circle A is 203
‘metre. If the radius of the

circle B is 105 metre less




than the radius of circle A,
what is the circumference
circlo B ? (in matre)

188 @7

(3)9 @ 110

® 66
120. The percent loss incurred
is sold for Rs.
s:s ia docble of the percet
rred when the samo
il sl or o 65450,
‘What is the cost price of the
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